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problem = int (input())

if problem == 1:
print (1)

elif problem == 2:
print (0)

elif problem == 3:
print (1)

else:

print (1)
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(a) EFAIRIT

a = "this is a book"
a.split(' ')
print (a)
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(d) EHMTT

b[0] = 4
print (a[0])
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a = [1, 2, 3]
b = a
c =a+b

print(a is b)

print(c is a + b)
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1,apple pie, 100
2,banana,9
3,orange juice,7
4,apple, 120
apple
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4;apple;120;9
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1,apple pie, 100
2,banana,9
3,orange juice,7
4,apple pie,120
apple
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1;apple pie;100;6
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1,apple pie, 100
2,banana,9
3,orange juice,7
4,apple, 120
apple
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1;apple pie;100;6
4;apple;120;9
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5;apple;200;9
1;apple pie;200;6
4;apple;10000;9
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